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w1 12 [CJ3 4

A 1 Junction N = 11,358,813 2 Junctions N = 267,159 3 Junctions N = 3,704 4 Junctions N = 213

STAR

STAR Two Pass

STAR + RNASequel

STAR Ann.

STAR Ann. Two Pass

STAR Ann. + RNASequel

Tophat2

Tophat2 + RNASequel

Tophat2 Ann.

Tophat2 Ann. + RNASequel

(U]
L

Annotation Only

80 100 O 20 40 60 80 100 0O 20 40

o
N
o
N
o
(2]
o

Percent (%)
B 1 Junction N = 12,237,254 2 Junctions N = 276,884 3 Junctions N = 3,678 4 Junctions N =77

STAR
STAR Two Pass
STAR + RNASequel

STAR Ann.

STAR Ann. Two Pass

STAR Ann. + RNASequel

Tophat2

Tophat2 + RNASequel

Tophat2 Ann.

Tophat2 Ann. + RNASequel

Annotation Only

o-
N
o
N
o
[o2]
o
@
o
=
o
o
o
N
o
N
o
[o2]
o
@
o
=
o
o
o-
N
o
N
o
[o2]
o
@
o
=
o
o
o-
N
o
N
o
[o2]
o
@
o

Percent (%)



Figure S7
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Figure S11
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I STAR Ann. Two Pass
Bl STAR Ann. + RNASequel

A

300000
250000
200000
150000
100000
50000
0

300000
250000
200000
150000
100000
50000
0

100000
80000
60000
40000
20000

0

100000
80000

Total A-to-I

Total Non-A-to-I

dbSNP

A-to-l

Non-A-to-I




Figure S18
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